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Aftab
Introduction is lengthy. Shorten it a bit 
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Aftab
Relate your headings to the qs statement 
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Aftab
Use elaborate and self explanatory headings 
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Aftab
Link your arguments to the qs

Aftab
Leave a line space between headings for neatness 
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Aftab

Aftab
Short answer. A 20 marks answer should have around 15 subheadings and be on 8-9 pages 


Improve the references paper
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Improve the references, paper presentation and the headings quality part
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Aftab
You’ve not understood the question and hence is not properly answered 




